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ENEE 610 F20
Homework #9  Due Tu 11/10/20 
1.  For the transfer function V2/V1 = ks[s2+4]/[s4+3s3+10s2+12s+9]

a) Show that the denominator is Hurwitz.

b) By a partial pole removal give a ladder circuit, terminated in 1Ohm, and evaluate k.

2. Draw the circuit which is the cascade of two constant R lattices, with R=2, to give


 V2/V1=[(1-3s)(4s3-6s2+8s-3)]/[(1+3s)(4s3+6s2+8s+3)]

Does it matter which section comes first? Why?
3.  Show that the following 2-ports are equivalent and give the value of L in terms of C and the OTA gains, gm1, gm2, gm3.
{recall that positive output current enters the OTA and the undrawn return of this current is to ground. An (ideal) OTA has no input current and infinite output impedance} 
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